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QUESTION 1

The instance diagram in the exhibit contains father and son without underlines. What is the meaning of this? 

A. The Don class is a superclass of the Josh class. 

B. An association having end names father and son. 

C. The diagram is a mixture of class and instance diagrams. 

D. A link of an association having end names father and son. 

E. The names are incorrectly specified, because underlined names are required. 

Correct Answer: D 

 

QUESTION 2

What is the meaning of a endency between two model elements? 

A. a generalized abstraction relationship between two model elements, where the client represents the specification and
the supplier represents the implementation 

B. a specialized abstraction relationship between two model elements, where the supplier represents the specification
and the client represents the implementation 

C. a generalized usage relationship between two model elements, where the supplier represents the using element and
the client represents the element being used 

D. a specialized usage relationship between two model elements, where the supplier represents the using element and
the client represents the element being used 

E. a specialized permission relationship between two model elements, where the supplier represents the element
accessing and the client represents the element being accessed 

Correct Answer: B 

 

QUESTION 3

Which icons are a standard representation for an actor? (Choose three) 

OMG-OCUP-100 PDF Dumps | OMG-OCUP-100 Practice Test | OMG-OCUP-100 Exam Questions                               2 / 4

https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html


https://www.pass4itsure.com/omg-ocup-100.html
2024 Latest pass4itsure OMG-OCUP-100 PDF and VCE dumps Download

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

F. Option F 

Correct Answer: ADF 

 

QUESTION 4

What notation may be added to the line connecting a use case with an actor to indicate that the actor can participate in
several instances of the use case at the same time? 

A. near the actor 0..* 

B. near the actor  

C. near the actor {many} 

D. near the use case oval* 

E. near the use case oval{*} 

Correct Answer: D 

 

QUESTION 5

Let us denote sending of p as !p and receiving p as ?p. Which traces define the interaction M2 in the exhibit? (Choose
three) 
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A.  

B.  

C.  

D.
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